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Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 8 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.

Explain different layers of ionosphere.

of its block diagram.

VSAT 

(i) Numerical aperture

(ii) Fiber attenuation   

8 x 5 = 40

7.

8.

8

OR

Answer all Five Questions. 
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        For total internal reflection, angle of refraction

is............
0

(a) >180
0

(b) >90
0

(c) >45
0

(d) >30

Ground wave propagation is used in..........

(a) A.M. ratio transmission

(b) F.M. ratio transmission

(c) T.V. transmission

(d) None of these

OT6023OT6023

modulation index.
4

6.

OR
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(iii)

(iii)

(iv)

(ii)

Which of the following relation is correct for 
modulation index m  in amplitude modulation a
technique?
(a) m  >1 a
(b) 0<m <1 a
(c) 1<m <2a
(d) m >10a

Which of the following is example of 
interval noise:
(a)  Short nosie
(b)  Cosmic noise
(c)  Thermal noise
(d)  Both (a) and (c)

OT6023 OT6023

What is role of duplexer used in Radar?

(i) Atmospheric Noise

(ii)  Cosmic noise

(i) Fading

(ii)  Skip distance

4.

5.

OR

OR

4

4
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(v)

(v)

(vi)

(iv)

OT6023OT6023

Atmospheric noise arises due to................
(a) Lighting discharges.
(b) Electric sparks produced by electrical
      equipments
(c) Both (a) and (b)
(d)  None of these

Which of the following noise arises from a 
random movement of charge carriers due to 
thermal agitation in a conductor
(a)  Thermal noise
(b)  Shot noise
(c)  Both (a) and (b)
(d)  None of these

3.

Answer all Five Questions. 
4 x 5 = 20

What is pager? writer its advantages.

cellular mobile communication?

MTSO 

4                     

4                     

2.
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communication system.
(a)Wi-fi 
(b) 3G
(c) Both (a) and (b)
(d) None of these

(vii)

(vii)

(viii)

(vi)(xx)

OT6023 OT6023

Which of the following is related to satellite
communication.
(a) Up-link frequency
(b) Transponder
(c) Earth Station
(d) All of the above

Geostationary satellite completes one orbit
in.....................
(a)  24 hours
(b)  12 hours
(c)  6 hours
(d)  2 hours

(xx)
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....is shape.

(a)  Rectangular

(b)  Hexagonal

(c)  Triangular

(d) None of these

Which of the following modulation is used in

fax machine:

(a) Amplitude modulation

(b) Frequency modulation

(c)  Pulse code modulation

(d) All of the above

(ix)

(ix)

(x)

(viii)(xviii)

(xviii)

(xix)

(xix)
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............is between fiber and signal source:

(a) Splice loss

(b) Connection loss

(c) Coupling loss

(d) None of these

Which of the following is a parameter of

fiber performance.

(a)  Bandwidth

(b)  Transmission loss

(c)  Both (a) and (b)

(d)  None of these
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(xvii)

(xvii)

(xvi)

(xi)

(xi)

(xii)

(x)

OT6023 OT6023

Refractive indices of core and clodding are
1.75 and 1.25 respectively. Critical angle is
about:
(a) 45º
(b) 60º
(c) 75º
(d) 80º

Which of the following information can be
provided by RADAR about target.
(a)  Range
(b)  Direction
(c)  Velocity
(d)  All of the above

Which of the following equation is known as

Hartley-Shannon law.

 

 C = log  (1+    ) b/s

 C = Blog  (1+    ) b/s

 

N
S

S
N

S
N

(a) C = Blog  (1+    ) b/s2

(b) C = log  (1+    ) b/s2

(c) C = Blog  (1+    ) b/s2

(d) None of these 

N
S

S
N

S
N
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(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)

OT6023OT6023

Which of the following statement is correct:
(a)Duplexer connects transmitter to antenna
     only 
(b) Duplexer connects receiver  to antenna
     only 
(c) Duplexer connects transmitter and 
     receiver to antenna only alternately
(d) None of  these 

PPI type display system indicates:
(a)  Range of target only.
(b)  Azimuth angle of target only
(c)  Range azimuth angle of target simultaneously
(d) None of these  

PPI 

If symbol x has probability                  , then
information content I(x)  of symbol x is........
(a) 3 bits
(b) 8 bits
(c) 2 bits
(d) 16 bits

In which of the following channel, channel
matrix has one non-zero element in each 
row.
(a)  Noiseless channel
(b)  Deterministic channel
(c) Lossless channel
(d)  None of these

p(x) =1
8

p(x) =1
8
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Discuss different types of optical fiber losser.

communication system.

explain its operation.

PPI

OR

9.

10.

8

8
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Discuss different types of optical fiber losser.

communication system.

explain its operation.

working principle.

OR

9.

10.

8

8
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Draw block diagram of pager and explain its 

working principle.

(i) IPTV

(ii) MUF

(iii) Geo stationary satellite 

(ii) MUF

8

***

18 21602OT6023

Draw block diagram of pager and explain its 

working principle.

(i)IPTV

(ii) MUF

(iii) Geo station satellite 

(ii) MUF

8

***
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